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Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

. wmwﬁﬁaﬁmﬁe}wmmﬁmmgﬁﬁwﬁwg@ww}

The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be
strike the written answer,
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Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective
type questions.
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. mwﬁ%méﬁ#ﬁ%f@%awé‘/%yﬁwﬁaa@?? qhEr # IYUT 3T
Ty 7 25 9 aEr @H T8 A A3

Before answering the questions, ensure that you ‘have been suppl o
complete question paper, no claim in this regard, will be entertained after
examination.

G [739r

General Instructions :
() & T s &
Al_l questions are compulsory. :
(i) JOF J97 3 6% gE T T T &
Marks of each question are indicated against it.
(iii) 797 FF 1 @ 14 7% Fgie aor 15 § 18 TF AVEFT-FRT JHT & 757 2
5% 797 | A% 2T & For7@ wel gae o guv-giasr 7 ke 8

Question Nos. 1 to 14 are objective type questions and 15 to 18 are

ied the correct and

‘Assertion-Reason type questions, carrying 1 mark each. Candidate have to

write the correct answer in their answer-book.

(iv) WFW19 7 25 aa;e?ﬁagﬁ??ma;wv?f Wwvz G F &1 FAF g7 F
aarﬁrvwso s@?#‘&?ﬁm

Question Nos. 19 to 25 are very shbrt_answer type questions carrying

2 marks each. Answer these in about 30 words each,

(v) F97 F7% 26 & 30 a?ﬁagﬁwwm?:r?/ mwv:a e;a,?‘wg'*, T% 9T 7 I
T 40 = 7 G

Question Nos. 26 to 30 are short answer type questzons carrying 3 marks

each. Answer these in about 40 words each
(vi) F97 #% 31 T 32 JOF 4-4 SH F &

Question Nos. 31 and 32 are 4 marks each.

2629
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(vii) wvw%ss_ D35 g% I TTIEF FIT & 0F FeT S TH H B FAF 9T FH

FIT TTHT 70 =] 7 o

Question Nos. 33 to 35 are long answer type questions carrying S marks

each. Answer these in about 70 words each.

(viti) To7-TF 7 g9 &Y § FE ey 7 & T 56 geA 7 ol q97 FeT B T

& 08 ot ¥ @ oIvE BaT U & FeT FA 81

There is no overall choice. However, internal choice is given in some

questions. You have to attempt bnly one of the given choice in such

questions.

(e )

(Objective Type Questions)

1. 2_-,065 ¥ |refe of @ e B
A) A ‘ | B) &
(€) =X . (D) o
Number of significant figures in 2.005 is :
(A) Two - | ~ (B) Three

(C) Four | (D) Infinite

2. EESF GO # R SR gaa A w
1, N E R - (B) 2
()3 | ' _ (D) 4

How many unpaired electrons are present in Nitrogen atom ?

a1 ' - (B) 2
C) 3 | (D) 4

2629
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3.

(A) G0 ) _ - (B) BFs

(C) - 20 gLl o By o
-Which compound do not show zero dipole moment ?
a7 B e e R | (B) BFs

10} ERp e (D) ‘CCh

2629
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9,17,35,53,85@3%31%@%@%: 1
(A) EeS (B) et I

(C) . Thell o1 Aewt (D) EeRHT T

The elements with atomic Number 9, 17, 35, 53, 85 are all :

(A) Halogen's (B) Noble gas

(C) Alkali Earth metal (D) Transition metal

-1 A 1 g ot 7 R ?

W/%ﬁHgQWWWW%?

A) 44 o (B) 18
() - A7 ‘ (D) 60
What is the molar mass of H2O in gm/mol ?
(&) 44 - (B) 18
(©). 17 . (D) 60

. o T B A o & e T 2, A o ad d

(A) faepes (B) ST

(C) IoTEd (D) SewiE arf¥fepar
When water is added to quick lime the reaction ié :

(A) Explosive ; (B) Endothermic
(C) Exothermic (D) Photochemical
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7. KClOz § Cl 3 Sifefieor e &1 8 7 | 1
(A) +5 (B) +3
(a1 M e o) =1
The oxidation number of Cl in KCZOS 8 ;
@ 45 | (B) +3
(C) +1 | D), ' ~4
8. aysiid qarel &1 oM Fede S R S @ 1
(A) See Ay A m)g?nﬁ%é
() faerex Aux ffy A (D) e Ry &
Molecular mass of volatile substance is determined by :
(A) Kjeldahl's method (B) Duma's method
(C) Victor Mayer's method (D) Leibig's method
9. THFRE & yod Frad @& P w9 e ' 1
(A) AU=q+w ' (B) AU=qgx w |
(C) AU=-g-w (D) AU=w-qg
Mathematical statement of first law of thermodynamics is :
(A) AU=gq+w B) AU=g%w
(C) AU=-q-w (D) AU=w-q
10. 309 ¥ 5w REAT (sigma) @ O a7 B4 B 7 1
(A) 1289 3m o (B) 1183 2n
(C) 128d 1n (D) 1356d3n

How many Sigma and Pi bond are present in the Benzene ?
(A) 1288& 3 0 (B) 118&2m
(C) 1288& 1 D) 138& 3
2629 . | , PITO.
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11. -9 F8F d B HAHL F T 7 | 1

(B) 7 st (B) p
[B): 5 L v D) f
Which orbital is dumb-bell shaped ?
(A) s B) p
© d | D) f
12. CH3CHO @ [UPAC ¥ &N | 1
(A) Aceteldehyde L (B) ‘Methanal
(C) Formyl chloride L (D) - Ethanal
The IUPAC name of CH3CHO :
(A] Aceteldehyde (B) Methanal
(C) Formyi chloride (D) Ethanal
13. HEE Reris & & A e ‘ 1
@A) 6.022x10% (B) 6.022 x 10% ‘
(C) 6.022 x 10%° | (D) 6.022 x 10%2
The correct value of Avogadro's constant will be :
(A) . 6.022 x 10% JB) 6.022 s 1(7°
(C) 6.022 x 10%° _ (D). 6.022 = 107
14. gt oo (Rrewdl) & feem o] frteas s/ @ 81d & ? 1
(A) 12 | (B) 24
(C) 6 ) B8
How many molecule of water of crystalization in Potash Alum ?
(A) A2 B) 24
(C) 6 - (D) 3

2629
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e : Frfafad gt (Jo Ho 15, 16, 17 T 18) ¥ A Fu Y 1 ¥ s (A) T
FRO (R) N FE H ANGEE e B 0@ P i B S oo e @l
T FE S F Y W e (A), (B), (C) W (D) H § g forfag ¢
(A) (A) T (R) af & 8 3R (R), (A) %I W& &FrE 2
(B) (A) T (R) A & § AR (R), (A) # F& e 7@ 2l
(C) (A) ¥ B AfFT (R) A Bl
(D) (A) 3EE ¢ AlH (R) §A Bl
In the following questions (Q. Nos. 15, 16, 17 & 18) two statements are given for
~ _each. Assertion (A) and Reason (R). Study both the statement carefully and
decide which answer opﬁon is correct and write the correct answer by selecting
the given option (A), (B), (C) & (D) :
(A) Both (A) and (R) are true and (R) is correct explanation of (A).
(B) Both (A) and (R) are tru.e and (R) is not the correct explanation of (A).
(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

15. ¥+ (A): U oifskar H _ 1
Zﬂ.(s) + CuSO4(aq) —> ZnSOn,(aq] + CU.(S)

foi s oTyarg® ® dfed g8 @E Sifediigd @ S B
FRY (R) : feret Yoy orfiferar H oifedieea siae WihR &b FUEg & ol &
- T SYEEF aFe Gihd Sldigd 8l S gl
Assertion (A) : In a reaction
Zngg) + CuSOs(gg —> ZnSOu(gg + Cugg
Zn is a reductant but itself get oxidized.

Reason (R): In a Redox reaction oxidant is reduced by accepting electrons

and Reductant is oxidized by loosing electrons.

2629 P.T.O.
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16.611‘@5!{3(1&): IprEE T o B g
PR (R): T Poe Te @ g ww ¥ R o @ R g A el

Assertion (A) : Graphite is an Element.

Reason (R): Element is the pure form of substance containing same kind of
atoms. -
17. IR (A):  ofes WX F gfs 3 @y o 1 FEEEIE Sedl B 1
FR (R) : ‘qrEXaT I e WX H gy 3 91y Sedl 2l

Assertion (A) : Boiling point of alkanes increase with increase in molecular
Weight.r

Reason (R): Vander Waals's force increase with increase in molecular weight.

18. IRFEA (A):  HOW EESHET TAENE w7 § o9 s o ¥ | 1
FCT(R): st el Rl @ g A o & A ¥
Assertion‘ (A) : Saturated hydrocarbon are chemically less reactive.

Reason (R) :  All Isomeric paraffins have same parent name.

(STfer-TgeeTs ue)

(Very Short Answer Type Questions)

19. (a) a@emﬁﬁqﬁmﬁﬁaﬂqéﬁ? . 1
How many total electrons are present in the Nitrate Ion?
(b) s WA @ geETE e fRgw ~ 1

Write Electronic Configuration of chromium atom.

20. Bﬁsﬁmﬁ%aﬁamﬁwm%wﬁm-m%eﬂ?NHs%m&xeﬂm
m%&maﬁf%?ﬁ%ﬁaﬁmmwww%?

BF; does not have proton but still acts as an acid and reacts with NH.

3> Why is it
so ? What type of bond is formed between two ?

2629
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21. Frefofes e SRR F ST SRR R Er wqfd ST 2
(aqg) (eqtiﬂ-q)

Balance the following redox reaction by lon Electron method :

it 5 2—

L + 9— i
Cry0;% (ag * SOsg = Crag * SO, (aq) (Acidic)

22. ST A (CHy),C*, CH,CH," & aife fax & ol CcH,* wad &7 Rev R 2 2
Explain why [CH3)3C i more stable than CH-:,,CHQ+ and CH," is least stable
‘cation ?

23. (a) < TH [e@9 A pH =7 &, a I§H POH A I T 2

If pH of a solution is 7, calculate its POH value.
(b) pH 741 & AR &%7 A 3B ¥ CH,COONH, e & =t o)

What happens to the pH, if a few drops of acid are added to CH,COONH,
solution ? '

24, I H b SRR F=@ Y 7 geen R R 2
What is Electrophillic substitution of Benzene ? Show its mechanism.

arerar
| OR
FAIBeIH AR HEEE F g SR Fi

Distinguish between Carbocation and Carbanion.

25. (a) - AUSElG & amad e qe oy omad frew # o ey @ B 7 1

What is the basic difference in Mendeleels Periodic Law and Modern

Periodic Law ?

(b) wm%%mﬁaﬂﬁqmawmm%mﬁs@mmﬁqu
Folt w9 B R ?

What is the reason

1

that first lonization energy of Nitrogen is higher while
that of oxygen is lower ?

289 P, T.iG
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(T 5)
(Short Answer Type Questions)
26. (2) WRERT VAR W AW T AGHE 200°F ¥, @ dfeedd W 7w AT A af 7

A measured temperature on Farenheit scale is 200°F. What will this

reading be on Celsius ?

(b) IO 9 P AR F= N B 5.85 A NaCl(s) 9T 500 el & ? 1
What will be the molarity of a solution which contain 5.85 gram of NaCl(s)
per 500 ml ? 4 itin

(©) aﬁaﬁ@eﬂ'{wgﬂﬁwﬁwﬂ%?

What is the relation betw_céri Molecular formula and empirical formula ?

w

27. T o "X H QY FHF 13 P
. An element "X" has ato'rhi_c. nlurlnbe:l.‘_ lé ;
(@) "X @ gwwiE e i
Write electronic configuration of "X".
(b) TE TE B Farsy ol X e 2
State the group to which "X" belongs ?
(c) T "X' T a1 & A1 e ?

Is "X" a metal or non-metal ?

28. (a) T HHFAN A 701 Y@ FON TH YOI A ST A AR ¥ oW 304 @
oIl BT b S 31 o & R o S ¥ e oRad d ¥ ¢ 2

In a process, 701 Joule of Heat is absorbed by a system and 394 J of work

~is done by the system. What is the change in Internal energy for the

process ?

2629
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(b) T awal @ ST AN SN A T T4 & ¢ 1
What will be the enthalpy of all elements in their standard state ?
SIRC]]
' OR ‘
frafs & e & yER B I UER el ol 81 R ™ $ w-a ofdis S A
ORE # T e AR 1 el oed e @ e feld § aeada 89 8 S g,
A F@ AT 5 A B
Expansion of the gas in the vacuum is called free expansion, calculate the
work done as well as the change in the Internal energy if 1 litre of the ideal
gas expands isothermally into a vacuum untill the total volume is S litres ?

29. T FANE A d 69% FEAT X 4.8% FEZIe Bl 2l T T= SRS B S 3
A F 0.20 AW P°f 59 A 8, @ SARA COx AR H20 % FAHN @l O P 3

An organic compound contains 69% carbon and 4.8% hydrogen, the remainder
~ being oxygen, calculate the masses of CO» and .0 produced when 0.20 gram of
this compound is subjected to complete combustion.

e
| OR
IUYFT AN D Y ke WA ST FOEHE I IE H e i)

Explain the term Inductive effect and Electromeric effect with suitable examples.

30. (a) Wgww @ Rufy & Frer offrr & ©R Ke 70 2 7 Y7
250ug * Qata) = 25%0)
[SO,] = 0.6 M [O,] = 0.82 TT [SO;] = 1.90 M
What is Kc for the réaction in state of Equilibrium ?
28059 + Oz(g = 2505 |
- [SO,] = 0.6 M [O,] = 0.82 and [SO;] = 1.90 M
(b) T FifEd @9 O F@ @A 10° TG W HEEH ¥ STRN T enged @
- A A 40% BA Bl g B R Kp TG BN Ly = 21, | 1%
At a certain temperature and total pressure of 10° Pa. Iodine-contains 40%
by volume of I atoms. Ly = 2] calculate Kp for the equilibrium.

| 2629 . P.T.O.
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31. TEFREH & Uedl A S Gxe©r & gmEEg few ¥ S R gomel 9 ar) e & e

Fofl T AR e § A ¥ g orEr e R @ omefd @ W Ser s
B ¥ ofidR® Tl B GgM, g @Y | HH A W g9 adl ol TOEE &y
¥ [AQ=AU + AW| & AQ & T Tom ¥ oW AW oIl & e T w1 ® ud AU
Sidw St ¥ Rad ¥ AQ W AW SR o § Mo N @ @ 9 AW TR W
e & &1 AT FmeE AQ- Wt W iR 7@ e B

() TSRS g P e qe 8 e @ 7 w
(b) %—mw@maﬁ%.@o,gmao-aw? 1
(©) H"ﬂ?ﬁw@?ﬁ%? | | 1
(d) AT fehgen oTeras & ? 1

The first law of thermodynamics is the general law of conservation of energy
applied to any system in which energy transfer from or to sourroundings is
taken into account. It states that energy supplied to the system goes in partly to

increase the internal energy of the system and the rest in work on the

environment. Mathematically | AQ = AU + AW/| where AQ is the heat supplied to

the 'System, AW is the work done by the system and AU is the change in Internal
energy of the system. AQ and AW depends on the path taken to go from initial to
final sfate, but the combination AQ - Wis path independent.

(a) First law of thermodynamics is concerned with the conservation of ........_.
(b) Which is not path function AQ, AW, AQ—- AW ?

(c) What is system ?

(d) Thermodynamics is the study of ............... :

2629
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32. A B R, ad GlY e T ¥ ary Ry W wefe A § A o @ Rl

F @ & I T Na QT @R F Feso, dr @ H,S0, fam ot s Her

kel mﬁsﬁwmﬁﬁﬁﬁrﬁma@%waﬂ%wwm”ﬁm%aﬁﬁmm
Qw1 fpan e Ot & SR i -

Three students, Vishal, Vaibhav and Vikas were determining the element

présent in given organic compound by Lassaigne Test. Vaibhav added FeSO, and

dil H,SO, to Na — extract and observed Prussian blue colour. Vishal was keeping

some pieces of sodium metal in his pocket, Vikas asked him not to do so.

Answer the following questions :

() HeitE AH 7 Avfe T H A AR | 1
Name the clement present in organic compound. :
(b) FCH & fod adeer fafaw | 1
- Write the test for chlorine.
(c) Wefad g fafeEw ]
Write Ithe value associated.
(d) TS URsFE BT T A ? 1
What is the nature of Lassaigne extract ?
SUE|
OR

frr AT & TUPAC 919 FasU

O )
|| '
@) o N Nn 1
o A 1
() CLCHCH,OH 1
(d) CH,CH,CH,CHO ’
2629 ; P TGk
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Give the IUPAC names of the following compounds :
O

e

(b) M/\

(c) CLCHCH,OH

(d) CH,CH,CH,CHO

(A ST we)

(Long Answer Type Questions)

33. (a) ¥IH BICH H Fe B T FO : 2
Calculate the energy of each photons which :
(i) IS F AJET Rt emaf 3 x 10'° Hz #
Correspond to light of frequency 3 x 10'° Hz.
(i) P TR 0.50 A @
' Have wavelength of 0.50 A.

(b) 4000 Pm TERE At FHIA & W & W 7 & W 1 S Il EW B B 3
What is the number of photons of light with wavelength 4000 Pm which
provide 1 Joule of energy ?

HY4r
. = OR
(a) TR A7 & g3 onidew H F wew F R ?

Total number of orbitals associated with third shell will be

(b) R HIofg HaT PR HR@ R L T 1
Orbital angular momentum depends on .................
(c) 4d oTfded & fo’r Fofg <e & de=r ... 2l ’

.................

2629
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(d) 3p Mided & [ Weaw s & d& ..o gl 1
The number of radial_nodes for 3parhital I8 e ;

(€) 4d, 4f, 5s, 5p ¥ § by offfdlew it oot daq w7 e°ft 7 1

Which of the orbital has lowest energy among 4d, 4f, 5s, 5p ?

34. (a) BT AF gIE & CO, A N,0 ? FHIT TR 1
Which is more ’polar CO, or N,O ? Give reason.
(o) dr e O B W T e A PR R A P :
Why ethyl alcohol completely miscible with water ?
(c) (VSEPR) Rrarw & ger farg ¥ ? 3

What are the main postulates of valence shell electron pair repulsion

(VSEPR) theory ?
HYqT
o-h
(o) e STt @ a Rewer #1 qer B it o T R 3 onere
T 6 g o0 B 3P AR ¢ 0, 0,", 0,

Compare relative stability of the following species and indicate their

magnetic properties on the basis of Molecuiar Orbital Theory : O,, Oj, N

(b) & CO, A H0 By o ¥ H,0 o9 &1 AR qg1 A 1 w&fs Co,
e e B Bl faye omet & emeR W awemw

Although CO, and H,O are triatomic molecule the shape of H,O molecule is

bent while that of CO, is linear, explain on the basis of dipole moment.
- 2629 P.T.O.
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35. T A i e Hv - | 5
Explain in brief : ) -
- (a) 9T sfufeear |
l Wurté Reactioﬁ |
(b) ARG P R
J Markovnikoff Rule
(c) wisq FFe YT
. Fredal Craft Reaction (Alkylation) i
(@ TR S & R o R aEe ot B AR @ g o
' ~ Suggest a roﬁte for the preparation of the Nitrobenzene starting from
: '.Acetylene

(c) aﬁﬂ?{%ﬁﬁ%ﬁﬂ?%ﬁmzﬁﬁ?

‘How will you get Bromobenzene from Benzene ?

2629
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